English Version
1, If List-I is matched |

gically ; ]
pe the corrz?ttolption among (A),y(B),t(hCI)";:é’(’ﬁ‘;l;ﬂt will
I5i= . List. )
(Levels of Teaching) (Learning Oltfrcomes)
(a) Memory Le}'el (l) Assessing OWn learpjy,
) Undeirstandmg (i) Recalling and ¢
Level - reproducing ;
(c) Reflective (i) Establishixgig“tfl(i:ncl::i(s):-
Level: effect relationship
Codes:
: (a) V) (c)
(A) (i) (iii) )
B) (i) () (iii)
©  ® @ g
D) (i) (ii) @)

2. The rules for when ang
particular culture is called—
(A) Syntax
(C) Phonetics

3. Assertion (A ) ¢

(B) Pragmatics
(D) Semantics

Continuous ang Comprehensiv‘e
Evalustion (CCE) solely focuses

on academic achievements and
examination results.

¢ CCEincorporates both formative
-~ and summative assessments to

provide a comprehensive view

of students’ overall development.
Choose the correct answer fr

Reason (R)

om the options given
below:

(A) Both(A)and (R) are true, and (R) is the correct
explanation of (A) 7
(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A )
(©) (A) s true, but (R) is false
(D) (A)is false, but (R) is true
4. The reley

ant question corresponding to reflective
level of teachip

g will be— )
A) Explain the essential differences between a cat and
arat,
(B) What is the past tense of the verb ‘come’?

Describe the geographical location of Assam.
D) Had Hilsa fish lived long out of water, what would
€ your explanation?
stor., - ich one of the following is the most suitable for
*Ytelling (o gpe learners of class I?
A) Drawing pictures on the board
(B) Asking questions to individual learners
C) Using voice modulation and gesturing
) Asking learners to listen attentively
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PART—A
Child Development & Pedagogy

English Version

6. Child’s inability to understand a SItuallon from
another person’s point of view is called—
(A) Object permanence (B) Centration

(C) Ego-centric thinking (D) Transductive thinking

7. For an individual learning, the unnecessary item
is—
(A) Immediate feedback
(B) Criterion Referenced Test
(C) Norm Referenced Test
(D) Cueing

~ 8. According to Kohlberg, the level of moral

development, in which an individual judges morality in

terms of abstract principle is— :

(A) Pre-conventional (B) Conventional

(C) Post-conventional
Post-conventional

9. Consider the following statements.
(i) Developmental milestones are fixed and identical
for all individuals.
(ii) Growthisinfluenced by heredity and enwronment
(iii) Maturation involves the unfolding of inherited
biological potential.
(iv) Development is solely influenced by heredity.

Which of the following options is correct?
(A) Only (i) (B) (ii) and (iii)
(C) (i), (iii) and (iv) (D) Only (ii).

10. Deficit based approach in inclusive education is
discourageable, because—

(A) it allows teacher to discard the weakness of the learner

(B) it allows teacher to eliminate learning-teaching
materials as per necessity

(C) it does not empower the teacher to give due importance
to the learning ability of the learner

(D) it empowers the teacher to emphasise the learning
abilities of the learner

11. When learners try to think within the given
information, it is called—

(A) Concrete thinking

(C) Convergent thinking

(B) Abstract thinking
(D) Divergent thinking' ..

12. The learning associated with computer literacy
training is—

(A) Associative learning
(C) Procedural learning

(B) Concept learning
(D) Factual learning

(D) Both conventional and -

Bengali Version
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PART—A

English Version

13. Which one of the following statements is
inappropriate in reference to Evaluation & Assessment?
(A) Continuous and Comprehensive Evaluation covers both
Scholastic and Co-scholastic aspects of students

(B) Diagnostic test is related to remediation
(C) Formative evaluation does not measure instructional
progress in classroom situation

(D) Summative assessment is a tool of evaluation used by -

the teacher at the end of the whole instructional process

14. In Maslow’s hierarchy of needs, self-actualization
is analogous to—

(A) extrinsic motivation (B) need for achievement
(C) reward and punishment (D) intelligence

15. According to Bruner, the stages of learning in
increasing order are—
(A) enactive, iconic, symbolic
(B) symbolic, enactive, iconic
(C) iconic, symbolic, enactive
(D) preoperation, enactive, iconic

16. Consider the following statements about Bloom’s
Taxonomy of Instructional Objectives and Learning
Outcomes:

(i) It categorizes learning objectives ranging from

' lower-order thinking to higher-order thinking skills.

(ii) Thelowest level of Bloom’s Taxonomy is ‘Creating’,
which involves generating new ideas and original
concepts. '

(iii) ‘Analyzing’ is a higher-order thinking skill in
Bloom’s Taxonomy that involves breaking down
information into parts and understanding
relationships.

(iv) It assesses students’ memorization skills and factual
knowledge.

Which of the four options is correct?
(A) Only (i) (B) (i) and (iii)
(C) (ii) and (iii) (D) (ii), (iii) and (iv)

17. Which of the following is assumed to remain same
up to a certain period of human life? _
(A) Mental Age (B) Chronological Age
(©) Intelligence Quotient (D) Body height

18. The students of a class could not complete their
answers during class hours. So a part of recess was
Curtailed to provide more time. This is an example of—
(A) positive punishment (B) negative punishment .
©) retroactive inhibition (D) negative reinforcement
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19. Match List-I with List-11I:
List-1 List-IT
(a)- Self-esteem needs\ Shelter
(b) Self-actualizatio (ii) Meaningful
needs relationship
(c) Safety need i{j) Realizing one’s
: potential
(d) Belongingness needs \iv) Refrain from anxiety
(v) Recognition from
_ others
Now, choose the correct option.
Codes:
(@ (b) (© (d)
@ O (i) (ii1) @iv)
(B) (i) (iii) @iv) @
(ORENNGY (ii1) @(iv) (i)
®) ) (iv) (ii) (ii1)

20. Match List-I with List-II and select which of (A),
(B), (C) and (D) is the correct matching.

21. One of two learners of same class obtained 45 and
the second one 90 in the same test of same subject. So we
may say—

(A) Second possesses twice the skill of the first

(B) Second’s knowledge is twice that of the first

(C) Second got half the marks of the first K
(D) First got 45 marks less than that of the second

List-1 List-11
(Learning phases (Features)
as per SE model)

(a) Engagement (i) Learners delve deeper into
the topic, make connections
and apply concepts to real-

; world scenario
(b) Exploration (ii) Hands-on activities and
: . participation in enquiry to
strengthen learners’
understanding
(c) Explanation (iii) Attention-grabbing activities
to encourage learners’ interest
. (d) Elaboration (iv) Judging learning outcomes
(v) In-depth discussion of
concepts and theories to
provide learners -with .
foundational knowledge
Codes:
(@) (b) © (d)
(A) ® (ii) (iii) @iv)
®B) Gv) (i) (ii) V)
© (i) Gy W) @)
D)  (ii) (ii) @) ™)
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English Version

22. A child is repeatedly dismantling her toy gun and
repeated]y assembling the parts for learning to make a

complete toy gun. Which two of the given four learning -

theories are mainly involved in the process?
(I) Thorndike (II) Pavlov
(III) Skinner (IV) Koffka & Kéhler
Choose the correct option: ‘
(A) (I)and (II) (B) (II) and (I11)
(C) (III) and AV) (D) (I)and IV)

23. Match List-I with List-11I:

List-1 List-IT
(Cognitive Development (Descriptions)
Concepts) i
(a) Schema (i) Modifying existing mental

structures to incorporate
new information

(b) Assimilation (ii) An organized pattern of
thought

(c) Accommodation (iii) Achieving cognitive
balance through

adaptation and adjustment

(d) Equilibration (iv) Fitting new information
into existing mental
structures

Which of the four options is correct?
Codes:’
(a) (b) (c) (d)
(A) (1) (ii) (iii) (iv)
B) (iv) (ii) (i) (iii)
© () (iv) () (iii)
D) (i) (iv) (i) (i)

24. Which of the following statements does not match
with the concept of pedagogy?
(A) Pedagogy is related to the needs of the learners
' (B) Pedagogy is indifferent to the context of cultural
influence A
(C) Pedagogy changes with the change in the curriculum
(D) Pedagogy is evolving in nature

. 25. Inthe revision of Bloom’s taxonomy of instructional
objectives in cognitive domain, the included and replaced
items are respectively—

(A) Attitude, Understanding
(B) Synthesis, Valuing
(C) Synthesis, Creating
(D) Creating, Synthesis

[7]
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26. Which approach is inappropriate to Constructivist
views? :
(A) Discovering
engagement
(B) Cooperation in group learning
(C) Provoking to acknowledge multiple perspectives
of an objective phenomenon
(D) Memorising a singular interpretation

something from empirical

-

27. A teacher identifies the difficulty in pronunciation
of a child while reading English prose Toudly. This may
be called— o T

(A) Assessment of learning (B) Assessment for learning

(C) Summative evaluation (D) Diagnostic testing

28. One of the major objectives of microteaching in
Teacher Training Institutes is—
S S _Qéz)/?o give an idea of teaching skills
(B) to give the concept of repeated teaching
(C) to master the subject of teaching
(D) to integrate the skills _gf/tc_gdﬁng

29. Teacher is not following the maxims of teaching
when she/he— :
(A) teaches humanity first, then about human beings
(B) shows the picture of dogs first, then that of bears
(C) shows garden first, then its plants
(D) helps to form concept on the basis of common
characteristics tha.

30. List of experiences:’
(I) Dramatized Experiences
(II) Demonstration
(ITI) Contrieved Experiences
(IV) Direct Purposeful Experiences

According to the Cone of Experiences of Edgar
l:ale, the topmost four experiences in ascending order
re —
(A) (O, an, (1m), IV)
(B) (1), (1), (1), (IV)
(©) D, (1), A1), AV)
(D) @V), (a1, (1), (1)
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CWWW@%WQ@T

pUol-pUet (AT 91 7 GIg® TeTare- e
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40, ~1if, o, 29, 79 TS RS
[A) eIl (B) o%a%
(C) T2 (D) 5%
41, ‘corelir yfEfae «fEred &[T (ere,
wjefar TR Awaa FMl—
(A) 7 + 8l M +4E
(O~ + 4 (D) * + &«
42, “«tiffem T HITITS AR SIZI-AN,
AR -7 Ao Rt A Ze—
A) T& (B) f@am
(g/ﬁ%@r (D) =%

43. ‘TeE Sff7 ©ita,—arw ©F 7% (i oAt-Sen
‘SIe-qF G wd—

A e

(C) =t

(B) a5
(D) &=

o O e
(A) Fosmem (B et
(C) RIS AN (D) i 5w

- %WWWW%M—

45. “fAfeets, Sfiers g, —Swmss
st AR T oz
(A) %+s_+§+?1+wr+3[+w+%+§+§+w+ﬁ+w
: @+5,+g+qrf2[_i§>‘i_s+§+§
(©) B4R+ R+ W44 B 54747

(D) C+R+R+ T+ WM+ + B+ 547+

46. Avx @ cRfere wawiy T, i fofee vea—
A) 2 B) @

©f s

47, e (ST “ieew Tre—

SRt (B) S—sfmia o
ol ARprT 67

© W—m (D) FM5I—rTet 477 (e
A=t

Po—SofF

48. T TN T — bt ey e < T
(A) T ' S

(C) TwFmne (D) TR
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49. o7 wRoRE I Nﬁaw 55. HTITTS ATGA SR TF GFHAT T Zh—
FEA— (A) #iitem (B) i
(A) FFELR M LY (C) i (D)X@ﬁ
/(c./sm % g D) 3,977
56. T (eifdTs AteAl A eleiTara ATdtew e 24,
50. LAD-a% o weifd — R A ra—
(A) Learning Associative Device (A) AR 247 A
(B amer Acquisition Device (B) @@ I o1t ottt
(C) Language Acquisition Device (C) % e St AGH SSjI TG (STl
ﬂ Language ACCO"}IHOdilliVC Device (P)/(Tﬁ IRE Sl 2% WA CFTLIR Sy 41T CSTEl

LN

51, q&EA IS GHIRTT R AFCEW, mzmmﬁaw o Lk

vm;mﬁamﬁaa:mmamotﬁwmﬂﬁmeﬁﬁmﬁa T (B) freseE S
T C) TR Tnizgd SIS STz
3ta 2 ol o FrEITe S 9o k— © 2 ®) 5

(A) Adaptation (B) Association

(C) Acquisition (}))/Leaming

58. VeSS PRIATTE O W SISTTA CFLd oI e e Ted—
(A) T SICT QARIATE G- 7Lt Al
(B) ¥ PR o QRIS &< W A1

o TTA— .
52, ‘A’ =I=ioa AT FACA FUZITT (T I FCI o e R o
A+ L+ T+I+T | P ﬂﬁﬁﬁ
©) 7 D) _}Dyaﬁmmaﬁmﬁfi‘wmms@zmmﬁ
| - ﬁamw—«mémw

53. vl cifire A et #itg TR T e
faifirat/ frrss eldTa Wqﬁm a2 ot Bo1a ST 59, mmﬁmﬁmmm&mqm%mmm

Wlmﬁﬁmmawﬁmml cnwﬁsﬁ:n)or/ﬁmwm_

G o (@ Il r4zta T, 2 e, B 2o — (K a3 A1
O SR A (B) CAZ %S (B) T Ao
(C) emfq “mfe (D) S AG(S (€) < ~RME

_ (D) e Ramgd Tey SICebl

54, oI @B etg-atensarn e/ e g T
e i R Aoa el e a— 60. A (PIGD T’ 3 I w2
) fet —_ZB) S (A) Uore B) fzm
©) wped M (©) W-:- (D

[11]



nos, 61'69.

PART-C
Language-II — English
Read the following passage carefully and answer Question

In what was surely an understatement, 2023 physics

laure

ate Anne L' Huillier described herself “a little bit busy”

when Adam Smith reached her a couple of hours after she

had received the |

. . o T —————
news. In this brief call, she describes how

——

ecial it feels to receive the prize and how her research into

f}l:e s of li which she revealed in the 1980s,
Atifiues 10 excile her. N

Interview transcript:

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith

Anne L' Huillier :
: Thank you very much. I gather that you

Adam Smith

Anne L' Huillier :
: Of course.

Anne L' Huillier :
. It must have changed the lesson.

Adam Smith

Adam Smith

Anne L' Huillier :

Adam Smith

Anne L' Huillier :

Adam Smith

Anne L' Huillier -

: Hello?
. Hello, this is Adam Smith calling from

nobelprize.org, am I speaking with
Anne L' Huillier?

: Yé};bJALLama little bit busy now.
: Ican well imagine, and I promise not to

keep you on thé phorie for more than two
or three minutes. '
Ok.

were teaching when you heard that you

had won the Nobel Prize-and I just

want&d to know what your students

thought of this news?——
.._'_’___’—_"-
I think they were very happy.

It was really fun, let’s put it this way!

Yes, but I tried to, I continued my
lecture.

. That shows tremendous presence of

mind. T gather that it mustall be a fairly

overwhelming thing-to-happen, and

you're deluged. But I suppose, I mean,

"1 recall that you were on the Nobel |

Committee until what, 2015, so_you
know all the behind the scenes stuff, you
know what led to this. Does that, in some
way, make it even more special that you
know how...

%s, yes, it definitely does and I know
what is it to get a Nobel Prize, it’s
extremely difficult, and I know the work
behind, which is dWittee,
so I am very, very grateful.

. Of course, may I just ask you about the,

you know, just about the thrill of
studying these sort of secret slides of
light, the overtone you’re able to create.
It was almost forty years ago, I guess,
that you were switched on to this. What

is it that makes it just sO }hrilling to

study?
This is a basic research, I don’t know,
this was new, it was not expected, and

not predicted. The understanding, took

[27]

the correct alternative for the above expression—

some time, took several years. So it was

very interesting to study and to try to

understand more, and then later on,
. many years after, look for applications

and explore new things with it.

t seems_such a_wonderful combination

of the head and the hands, if you like,

the Complexity of the theory and the
practicality producing these exquisitely

sensitive pieces of apparatus)
Yes, I mean this is what makes the field
so, so exciting and even now, thirty years
afterwards, we are still learning new
~ things, we are still trying to improve the
process in order for some applications,
so it is complex physics, but that makes
it very, very interesting. ’
. Of course, thank you very much indeed,

and thank you so much for speaking to
me in_the midst of all this.

Congratulations again.

: ThanK you! '

Adam Smith

Anne L' Huillier :

Adam Smith

Anne L' Huillier

61. ‘It seems such a wonderful combination of the head
and the hands.” Use of head and hands pedagogically

refers to— _

(A) rote learning
Mrming by thinking

v and doing

(B) learning by thinking
(D) learning by doing

@‘Delug’ as given in the passage is a/an—
erb - (B) adverb
(C) preposition (D) interjection
63. ‘Overtone’ as used in the passage refers to—

(A) any frequency lower than the fundamental frequency
(B) any frequency higher than th¢ fundamental

frequency -
any frequency equivalent in range to the
, fundamental frequency 2

(D) any frequency that is not at all related to the
fundamental frequency e

\@ﬁ‘he phrase ‘behind the scenes’ refers to work
ne— DN

publicly
“(C) surreptitiously

(B) overtly
(D) unreservedly

65. ‘... it was not expected and not predicted.” Choose

= (& Tt was neither expected nor predicted
(B) It-was unexpected and predicted
(C) Itwasn’t expected but predicted
(D) It was either expected or predicted



PART -
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Language-II — English

66. In the brief telephoni¢ conversation, Adam Smith
stated that Anne L' Huillier must have felt that—
(A) itis a regular humdrum affair to receive the prize
she was overwhelmed on receiving the prize
© receiving_the prize was a very mundane affair
(D) receiving the prize made her feel disturbed

67. ‘... explore new things with it.”” Exploration -based
learning helps children learn through—
excursion (B) reflection
(C) rote memorisation (D) curiosity and inquiry

68. StatementI : Iunderstand that you were taking a

class when you heard that you have

received the Nobel Prize.

I comprehend that you were

teaching your students when you

learnt of having received the Nobel

Prize. '

(A) Statements I and IT'are false

(B) Statement I is false and Statement I is true
Statements I and II are true '

(D) Statement I is true and Statement II is false

Statement I1:

69. “Lrecall that you were on the Nobel Committee,”
the correct alternative of voice change of the given line
shoul((l’:;?d as— 3

Itis being recalled by me that you are on the Nobel
Committee 3 ' M

(B) It was being recalled by me that you were on the
Nobel Committee '

(Ot is recalled by me that you were on the Nobel
Committee * i Siaa ;
(D) 1t was recalled by me that you are on the Nobel

Committee

Read the followi '
\"46{-79. OWIng passage carefully and answer Question..

There was once a herdsman oy ;
grew bored while watching over the \;i?l;?;g solfe:tg );g:rvsv’awthg
to make things more ex'citing, So, he yelled out t ot rll e
had come over and were‘attacking the sheep, All the Vin ves
came running to drive the wolves away. Meviever o " lagers
they spotted no wolf. The ]aﬂw e t’-}a—i]l%mg’
were not. They told him not to do it apain Showui agers

is antié. oL h : & n'QhOmy—ﬂfLﬁL he
 repeated this antic. fThe villagers came running agai 1
find that he was lying gain, only to

blatantly. This made the .
they left, warning him of dire consequences, ibpous ang

[28]

(A) kind behaviour _
foolish, outrageous or

A few days later, the lad actually spotted a wojs
sneaking amongst the flock. He jumped up and called out for
help. But none turned up because they felt that he was stjjj

joking and trying ta fool them. At sunset, when _themd

not return, the villagers started looking for the boy. They foung
him sitting Wy. He told them thyt
a wolf had teally come and attacked the sheep. An old maq
came forward to comfort him and told him that none would

believe a liar even when they were being honest. And the liar
has to bear the brunt of his action. :

—_—

e e

70. Statement I : No one rushed to thelad’s aid as they
felt he was fooling them.
Statement II: No one turned up to help the lad as
they were tired of hijs antics. :
&) Statements I and II are true
(B) Statements.I and II are false
(C) Statement I is false and Statement II is true
(D) Statement I is true and Statement II is false

71. The herdsman tried to fool the villager: e—

(A) wanted to disturb them
> he wanted to derive some fun

(C) he wanted company
(D) he wanted to show them how careful he was

72, ‘findingso ing or someone’— The phrasal verb

for the quoted expression is—

(A) calling out {(g)
)

(C) yelling out
73. ‘Antic’, as referred to in the passage, means—
¢B) optimistic behaviour
(D) pessimistic behaviour

looking forward
looking for

amusing behaviour

74. “None turned up b e they fwtiﬂ

joking;” is an example of a—
<~ (A) Simple sentence
(B) Complex sentence
Compound sentence
(D) Double sentence

75. The villagers hoped that their warning would
dissuade the Jad. If the above sentence is rewritten; without
altering the meaning what will be the correct option?

((A’)pT hat their warning would dissuade the lad 13
what the villagers hoped
(B) That their warning will dissuade the lad is what
the villagers hoped - CoTe
That their warning would dissuade the lad Wa$
what the villagers hoped . :
(D) That their warning might dissuade the lad 15
what the villagers hoped

\
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76. ‘inanopen and unashamed manner’— This phrase
as used ip the passage, means—
)

ejectedly (B) actually
blatantly
P

(D) really
77. “An old man came forward to comfort him.”
‘Comfort’, as used in this line, can be replaced with—
< ( ) console (B) combat
(C) congratulate (D) compliment

78. The moral of the story is—
(A) not believe cowboys
None disbelieves aliar
(C) Liars are always successful
(D) Liars are always exposed

.. 19. “.. a wolf sneaking amongst the flock.” ‘Flock’ is
a/ an— ———— T R R
Tz (A) Common Noun
) Collective Noun
(C) Proper Noun

(D) Abstract Noun

[

80. Dyslexia is a learning disablity that negatively

affects the understanding abilifies in terms of—

(B) Oral language
(C) Sign language
(D) Dialect

81. The purpose of CCE in learning English as a second
Eﬂ@eis— e e
(A) to administer weekly tests

(B) to assess the learners’ understanding of the
textboo

940‘5?5552 their learning gaps and hel _l,ea_me_rs
achieve the expected learning outcomes in
both scholastic and co-scholastic areas of
knowledge

(D) to assess their learning gaps and help learners
achieve the expected learning outcomes in only

the scholastic areas of knowledge

82. Which evaluation is done by the teacher during the
Proce, ing? '
(A) Summative evaluation
(B) Term-end evaluation
(C) Product evaluation
@) Formative evaluation

83. ‘Study of meaning’ in a language is known as—
semantics

(B) syntax
(C) linguistics
morphology

84. English language has
(A) 24
) 25
©) 26
(D) 27

consonant sounds.
e gp—

85. A scoring guide, used to evaluate_the quality of
students is called— : CPAPeS E -

Rating scales
(B) Checklist
(C) Inventories
(D) Rubrics

86. ‘Pedagogical grammar’ means—
teaching of grammar from form to use
<$BY teaching grammar out of context
(C) teaching only the rules of grammar
(D) teaching grammar in context

87. A good piece of writing in English involves—
(A) _incorrect punctuation
. ideas, presentation and coherence
(C) flowery language
(D) illegible handwriting

88. Writing the title of a story on the blackboard, the

teacher asks the class to guess what t is a

She/He does this to—
mmprove students’ vocabulary

W the story less interesting
et the class guess the content

(D) letthe class_gueés the word meanings

89. When young learners are taught to improve their

- spelling and punctuation, they will—
' 1mprove their accuracy

(B) nurture their creativity
(C) sharpen their listening skills
(D) enhance their fluency

90, Effective learning in a classroom situation takes
place when the learners are— o
(A) ,passive
&Brﬁ'\ble to score high marks
(C) interactive
fluent in the language



PART—D
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91. Whatisthe correct sequence a teacher needs to follow
to explain the concept of a ‘Quarter’ (%) in class ITI?
(i) Showing pictures representing ‘a quarter’

(ii) Providing concrete material objects and dividing
them into ‘quarters’

(iii) Writing the symbol of a quarter on the blackboard
(A) (i) = () —> G B) (i) = () - (i)
(©) @) - @i))—> () D) (i) — 3ii) — @)

92. In the following pattern

the missing term is—
(A) 210
(C) 425

(B) 184
(D) 241

93. Match the following in List I with those in List II
and choose the appropriate code—

List I List II

(a) Galileo () Mathematics is the gateway and

key to all sciences.

(ii) Mathematics is the language in

which God has wrltten the
" universe,

(b) Bacon

(c) Aristotle  (iii) Mathematics is a way to settle

in the mind of children a habit

of reasoning,
. (d) Locke (iv) Mathematics is the science of
gquantity,
(a) (b) © (d)
(A) (i) @ (iv) (iii)
(B) (i) (iii) @iv) (i)
(©) (ii) ® (i) . (iv)
D) (iii) @) - (i) (iv)

[30]

Bengali Version
91. o fiTs ‘a-vediera’ (V) Uraet mmwarm
re (i Fid TepEd T ? )
(i) aF-vedicd efsfifigsa gt ot
(i) TS oA AN RE @-vedite Reewad
(iii) TFIFRITE 9F-voditea edi@
(A) (i) > () > () (B) (i) = (i) — (ii)
(C) () - (i) = (i) (D) (i) > (iii) = (i)

15}
@@
gooifEe oW zi—
(A) 210 (B) 184
(C) 425 (D) 241

93. Iatmmﬁmﬁ?mlmwtﬁwtﬁﬁw

o fm Jra Abe cereieE @ fH—
wifetl wiferat 11
@) Wffe @) e zA ReT e
eiraaia @ i3 |
(b) @ (ii)ﬁﬁ@ﬁm%wmma@m
a2 vty el
(c) wuif%R=a (i) sifore 2= Riea T 1R e T
oI AR @b AW
d) =% (iv) *ife z= sifaeas R
(a) (b) ©) (GY)
(A) (i) ()] (iv) (iii)
B) @ (iii) (iv) (i)
(©) (i) @i) (iif) (iv)
(D) (iii) @) (ii) (iv)
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94, In the figure, A ABC, A DEF and all the
6 small identical triangles are equilateral.

The ratio of the area of the quadrilateral PDES to
that of hexagon PQRSTU will be—
(A) 1:1 (B) 15:16
©C) 6:5 (D) 5:6

95. Pys Py Py s P, are ‘n’ natural numbers which are
not composite and none of them is 2.
Given: 1 +p p,p,...p, = prime
then,p, +p, +p,+.tp, =
(A) nxn (B) 2n
©) n D) n-1

96. Which one of the following is the closest estimation-
interval of (3) ?
7
(A) 0-428574126 < 7?;- < 0482571429
(B) 0498751426 < —_:;— <0-528571429
(C) 0428571426 < -?71 < 0428571429

(D) 0425874126 < % < 0438251429

97. The product of two whole numbers is 552. The
smallest possible sum of these numbers is—
(A) 38 (B) 98
(C) 553 (D) 47

98. A wire is to be sold in multiple of 1 metrc.
A person needs some pieces of 85 cm, The minimum length
of wire when loss is minimum is—

(A) 17m. (B) Im
(©) 85m (D) 85 m

[31]

Bengali Version
94. eve fora A ABC, A DEF @ 5137 6 5 c&ltht aar sifen

forgerafn e fargen '

PDES 55815 cFawel @ PQRSTU q0QUed CHaweTd

AT ZTA—
A) 1:1 (B) 15:16
©) 6:5 (D) 5:6

95. Py Py Py s P, T8 ‘1 B AT AT TN (3T (AP
Hep wA] 2 T
oG i 14 p P, PP, = GED CeTE A
OIRTE, p, + p, + P, it P, = )
"(A)'nxn B) 2n
©C)n D) n-1

96. frafafiewfem gy @K [;) -7 fyepex TR

S-S ?
( A). +0-428574126 < —_?;— < 0-482571429
5

(B) 0498751426 < < 0528571429
() 0428571426 < % < 0428571429

(D) 0-425874126 < -3— < 0438251429

97. D 0 KT YW 552 TCA, HEHBA B TSI

PHS T To—
(A) 38 (B) 98.
(C) 553 (D) 47

98, = ora 1 b ofiwrs R = | gewm Y=
85 cifil, tarda feg hatat eitaem | g i =AW, oitaa Taey
o ZN—

(A) 17m
(C) 85m

(B) 1m
(D) 8 m
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99. Subitizing plays an important role in developing the
number sense. Which of the following is an example of a
learner demonstrating the skill of subitizing?

(A) Learner recognizes the number 6 as 1 added to 5

(B) Learner recognizes the number 4 as the number with
1 taken from 5

(C) - Learner rolls an unbiased die and is able to say it is
four without actually counting the dots

(D) Learner recognizes the number 5 as the successor of 4

100. Which of the following is not a mathematical
process?
(A) Visualising
(C) Estimating

(B) Memorising
(D) Transposing

101. “The sum of any two whole numbers is a whole
number’— This property of whole numbers is referred
to as—

(A) Commutative property
(C) Distributive property (D) Closure property
102. The perimeter of a triangle is 12 cm. in length,
where the measure of all the three sides (in cm.) are natural
numbers. How many such different triangles can be

formed?
(A) 2
©) 4

@) 5
(D) 3

103. At what level of Van Heile’s spatial/ geometrical
understanding, a child is likely to accept that a square is
also a rectangle?
(A) Level 0 (Visualization)
(C) Level 2 (Relationship)

(B) Level 1 (Analysis)
(D) Level 3 (Deduction)

104. Bakul has started reading a book of 4818 pages. In
24

three consecutive days she reads
23
146
of the book, left for reading, is—

(A) 1727 (B) 1738
(C) 1832 (D) 1742 .

' 34
art, — part and
park o1 P

part of the book respectively. The number of pages

105. In dividing a' number by 1001, a boy employed the
method of short division. He divided the number by 7, 11
and 13 in succession and obtained the corresponding
remainders 5, 6 and 7 respectively. The complete remainder
when the number is divided by 7 x 11 x 13 is—

(A) 539 (B) 586

(C) 581 (D) 544

(B) Associative property ‘

Bengali Version

00, sieeta catrara e AR D o et ot
w1 St B s R ARG el elnfy
Sz ?

(A) 5-a7Aeet | Glol <ol g Fmial 6 TR A o

(B) 5 ¢ | fora e Rt 4 Rpifbees Fgfe om

(C) T «afb a7 2al BIeTl POt Ak e ege
stefeTl =1 <A FEACS A (@ G B

(D) f=Rdl 5 ARG 4-a7 el AN AP o

100. Seoa A sifafew efet @2

(A) F6CF ol (B) ¥z
(C) SrgA <l (D) Zred 4l
101, ‘Gl I B Te FRAA B @F6 e TAP— AL
WA G2 S Tl T—
(A) R «of (B) A 45
(C) 3% 4« (D) I@et «f

[32]

102. @< frgrem «ffe o 12 @, @ e
Jea e a AR geRE e (ELRL 95 0e) | R Feef

fon farew 1w <t @3 ?
(A) 2 ®) 5
© 4 D) 3

103. Sj 23ER e/ Witfes @IteR @I T 9o
e FFE 90O AT @, 90 BTTAe 96 WTSrTa ?
(A) TF 0 (TT6CF 55() B) w3 1 (Rega)
(C) B 2 (F7~F) (D) . %3 3 (fTu=m)

104. IIE 4818 #IISIF IF I3 ATTS T FCH | 947 947 feafua

e b w22 wer, 34 wet 6 23 ot ot qEeEl
73 219 146 ’

Aw@fHa Touf eiret orvt A At e A w—

(A) 1727 (B) 1738
(©) 1832 (D) 1742

105, @ ARYITT 1001 Q1 ©1% 7314 T, Gl TreTe A1
ol #G( TR ITAMRE | I ARAIBTE 7, 11 G2 13 912t 22=17
Sl FE GAR SR SN IAFTN 5, 6 9IR 7 o 1 T
FRABTE 7 x 11 x 13 Bt Stot w31 =, Tov)ef ©oreerafs 28—
(A) 539 (B) 586
(C) 581 (D) 544



PART—D
Mathematics

English Version

106. The two numbers, both of which are greater than
29 having 29 for their H.C.F. and 4147 for their L.C.M.
are—

(A) 377 and 406

(C) 203 and 261

(B) 319 and 377
(D) 261 and 319

3

— of one centimetre indicates—
(A) 30 millimetres
(C) 3 millimetres

107. '
(B) 3 decimetres
(D) 0-3 millimetre

108. x and y are two whole numbers with x <y. Then,

H.C.F. of x and y will be—
(A) > x always
~(C) <xalways

(B) > xfor some special cases
(D) <xalways

109. The maximum number of trees which can be
planted 20 metres apart on the two sides of a straight road
1760 metres in length are—

(A) 178 (B) 176
(C) 180 (D) 174

110. There are some statements given below:
(D Multiplying a number by another always increases
its value.
(II) Dividing a number by another nonzero number
always decreases its value. ’
(III) A number multiplied by 10 always has a zero at
the unit place.
(IV) Multiplication is the inverse process of division.
Identify the correct option—
(A) (D) and (D) (B) (III) and (IV)
(C) Only (II) (D) Only (IV)

111. Following are some questions asked by the teacher
in the mathematics classroom:

Bengali Version

106. 29 SICorTH 929 ¥ 7R AL, 29 qR AL, 4147 |
TRy 4 za—

(A) 377 @R 406
(C) 203 ¥k 261

(B) 319 4k 377
(D) 261 @ 319
107. 9% @foHBTTR % T ot Fra—
(A) 30 fifefitm (B) 3 (offeitm
(C) 3 ffefitr (D) 0-3 ffafemE

108. x 8 y Z& b We A TR x < y | SIZCA, x € y-¢a
A FE—

(A) /> x (B) Ry Reea ot > x
(C) &t <x (D) &t < x
109. 1760 fivr A @< e ArstE goiree 20 fior @
MR AT O FHAEF At 2T/—
(A) 178 (B) 176
(C) 180 (D) 174

110. frs foyg fqfe eve ==:
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(I) What is the area of the rectangle whose one side is’

5 ¢cm. and perimeter is 30 cm.?
(ID) Find a set of numbers whose mean is 5.
(II) List all prime numbers between 0 and 20.
(IV) Tell me the mathematical information you know
about rectangles.
Which of the following is correct?
(A) (), (IT) and (11I) are close ended and (IV) is opcn
ended question

(B) () is close ended and (11), (I11) and (IV) are open

ended questions

(C) (I) and (III) are close ended and (II) and (1V) are
open ended questions

(D) (I) and (II) are close ended and (III) and (IV) are
open ended questions
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Mathematics
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112. The number of days in the 18th century was—

(A) 36525
(©) 36625

(B) 36524
(D) 36624

113. A fraction is equivalent to 5/8. Twice its numerator
and the denominator add up to 414. Then the difference of
the denominator and the numerator of the fraction will be—

(A) 14
(C) 23

(B) 69
(D) 46

114. x is a natural number and for every digit of it, place
value and the face value are the same. Then for any whole
number y, the value of xy will be—

(A) 2y
(C) =0ory

(B)
D)

<y
=y

115. Thelength of a rectangle is greater than its breadth

by 4 cm. and its area is X cm?2. If the length be decreased
by 2 cm. and the breadth be increased by 2 cm., then the

new rectangle formed is of area Y cm? Then—

(A) X<Y
©) X>Y

B) X<Y
D) X=Y

116. If 93P25Q is divisible by 88 then the value of P and

Q respectively is—
(A) 2and 8
(C) 6and 8

(B). 8 and 2
(D) 8and6

117. If a number (natural) be divided by 893, the
remainder is 198. The remainder, when that very nurpber
is divided by 47, is—

(A) 38 (B) 10
©) 17 (D) 05
118. _
1 1 2 6 42 7
Entry in the sixth box is—
(A) 1806 (B) 1764
(C) 462 (D) 378

119. ‘p’(>2) is a prime number. Then H.C.F. of
(@+1)and (p - 1) is—

(A) >1 B) =1
€ 22 D) =2
120, The sum [ pri .
] 111sluis _of the numbers of prime factors of 1540,
[The factors may not be distinct]
A) 12 B) 7
© 11

(D) 13

[34]
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121. Which one of the following toxins produces red tides
mediated Paralytic Shellfish Poisoning (PSP) in humans?
(A) Saxitoxin (B) Aflatoxin
(C) Bungarotoxin (D) Botulinum toxin

122. Which of the following is the first Biosphere Reserve
in India?

(A) Sundarban Biosphere Reserve

(B) Great Nicobar Biosphere Reserve

(C) Nilgiri Biosphere Reserve

(D) Panna Biosphere Reserve

123. Carbon monoxide (CO) is—
(i) a greenhouse gas
(ii) a polycyclic aromatic hydrocarbon
(iii) a component in determining Air Quality Index
(AQD)
(iv) a Volatile Organic Compound (VOO)
Choose the correct answer from the options given
below—
(A) (@), (i) and (iii)
(B) (i), (iii) and (iv)
(C) (iii) only
(D) (ii), (iii) and (iv)

124. Animals and plants that contain genes introduced
from other species are known as—

(A) hybrid
(C) plasmid

(B) transgenic
(D) semi-hybrid

125. Which of the following chemicals can be considered
as ‘green solvent’?
(A) Chlorofluorocarbons (B) Benzene

(C) Anthracene (D) Supercritical carbon dioxide

126-. Hydroponics is the technique of growing plants in
which one of the following conditions?

(A) Nutrient-less condition
(C) Soil-less condition

(B) Air-less condition
(D) Water-less condition

[35]
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127. Identify the least harmful direct threat for marine

ecosystem—

(A) Changes in air quality index (B) Oil spill (sea surface)

(C) Microplastic pollution (D) Rise in ocean
temperature

128. Which of the two following brain centres act as
Global Positioning System (GPS) in humans?

(A) Hippocampus and Entorhinal Cortex
" (B) Pons and Medulla :

(C) Occipital lobe and Parietal lobe

(D) Frontal lobe and Cerebellum

129. Which of the following animals is a.detritus feeder?
(A) Rabbit (B) Lion
(C) Pigeon (D) Vulture

130. Which of the following animals is a benthic

invertebrate?
(A) Small shark (B) Sea anemone
(C) Flatfish- (D) Sea horse

131. Identify the incorrect statement regarding
microplastic— S '
(A) Microplastics have been detected in human blood
(B) Polyethylene (PE) present in toothpaste and
polyethylene terephthalate (PET) present in lipgloss
are examples of microplastics
(C) Microplastics can be bio-accumulated along the food
chain ‘
. (D) Microplastics are easily bio-degradable substances

132. Identify the scenario not associated with algal
bloom—

(A) Death of fish (B) Release of algal toxin
(C) Change of ocean current (D) Depletion of oxygen

133. Which of the following chemical compounds is.

responsible for ozone hole formation i
ion i :
(Stratosphere)? n polar regions

(A) Ethane

(B) Chlorpyrifos
(C) Propane

(D) Chlorine nitrate

[36]
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134. Identify the scenario not directly causing ongoing

anthropogenic loss of species diversity denoted as the ‘sixth
mass extinction’— :

(A) Pollption caused by harmful chemicals
(B) Global warming '

(C) Reduced natality rate of species
(D) Loss of natural habitat

135. In which of the following phases, surface water
temperature phenomenon of ENSO (EI-Nifio Southern
Oscillation) of equatorial Pacific Ocean is called El-Niffo
phase?
" (A) Cold phase (B) Normal phase
(C) Warm phase (D) Freezing phase

136. Being an EVS teacher you have organised a debate
regarding causes for endangeredness of different animal
species. Learners expressed their views. Now at the end
of the debate, definite causes are ascertained behind the-
depletion of the population of Royal Bengal Tiger,
One-horned Rhinoceros, Gangetic Dolphin, Sarpagandha
and Polar Bear. Which of the following sequences is the
most appropriate option?
(A) Climate change and global warming, Poaching, Habitat
destruction, Over-exploitation, Pollution .
(B) Pollution, Over-exploitation, Climate change and global
warming, Habitat destruction, Poaching
(C) Over-exploitation, Habitat destruction, Poaching,
Pollution, Climate change and global warming
(D) Habitat destruction, Poaching, Pollution, Over-
exploitation, Climate change and global warming

137. What was India’s per capita electricity consumption
in 2021-2022 financial year? -

(A) 800 kWh (kilowatt-hour)
(B) 555 kWh (kilowatt-hour)
(C) 950 kWh (kilowatt-hour)
(D) 1255 kWh (kilowatt-hour)

138. During online classes, how will an EVS teacher be
able to appropriately teach visually challenged students?

(i) By sharing voice messages
(i) Using lots of oral explanation
(iii) By peer explanation

(iv) Using concrete experience
(A) (1), (i) and (iii)

(B) (ii), (iii) and (iv)

(C) (i), (1) and (iv)

(D) (), (i), (iii) and (iv)
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139. Read the following siatements and choose the

correct option—

Assertion (A) : At the primary level, EVS has
themes instead of topics.
: Theme-hased EVS learning
diffuses subject barrier and
promotes integrated approach
which is easy for teachers and
learners as compared to topics.
(A) (A)is false, but (R} is true
(8) Both (A)and (R) are true and (R) is the correct
explanation of (A)

(C) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(D) (A)is true, but (R) is false

Reason (R)

140. Which one of the following environmental issues
does the book ‘Silent Spring’ written by Rachel Carson
describe?

(A) Global warming (B) H'lrmful effects of pesticides

(C) Noise pollution (D) Air pollution

141. Being an EVS teacher your intention is to familiarise

rocks and minerals to your learners. Now one inquisitive

learner asks you what element is present in most of the

rocks and minerals? The teacher’s probable response will

be— B
(A) Aluminium
(C) Carbon

(B) Hydrogen
(D) Silicon

142. How much carbon dioxide gas is released into the
atmosphere to produce 1 (one) unit electricity from coal?
(A) 091 - 095 pound (B) 2 -3 pound
(C) 0:01 -0-02pound. (D) 8- 10 pound

143. A teacher is demonstrating different types of bone
Jjoints to her/his learners with the help of a skeleton. Now
she/he points out the ball and socket joints at different
anatomical regions of the body. Identify the anatomical
regions— .
(A) Knee and Elbow (B) Ankle and Wrist
(C) Skull and Vertebral Column (D) Hip and Shoulder

Bengali Version
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144. Being an EVS teacher you have organised a ficld
trip in some regions of Sundaland Biodiversity Hotspot
and discussed about endangered flora and fauna. Now
students interacted among themselves and reduced their
learning gaps. Which of the following is true regarding
Sundaland Hotspot?

GEOGRAPHICAL FLORA FAuNA
AREA
(A) Mizoram Orchid Irrawaddy Dolphin
(B) Sikkim Rhododendron Red Panda
(C) Tamil Nadu Cardamom Lion-Tailed
Macaque
(D) Nicobar Islands Rafflesia Orangutan

145. In which of the following years 21st CoP
(Conference of Parties) Climate Change Conference was
held in Paris (France)?
(A) 2015
(©) 2021

(B) 2014
(D) 2009

146. Which one of the following arrangements remove
organic matter from wastewater?

(A) Trickling filters (B) Settling tanks

(C) Carbon filters (D) Reverse osmosis

147. Air pollution resulting from volcanic eruption can
be detected by measuring which one of the following
compounds? '
(A) Sulphur dioxide
(C) Scandium oxide

(B) Strontium oxide
(D) Stannic oxide

148. The loose material produced during weathering of
" rocks may become consolidated, this process is known as—

(A) lithification (B) nitrification
(C) sedimentation (D) humus formation

149. Which one of the following is an anadromous fish?
(B) Hilsa
(D) Eels

(A) Cyprinus
(C) Rohu

150. Which of the following statements is correct?

(A) Migration of animals is not related to
environmental temperature

(B) Migration of animals is related to aggregation for
reproductive purpose

(C) Migration of animals is related with abundance of
oxygen

(D) Migration of animals is related to proving which
animal runs at what speed
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